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3. o2 Ido|4 oABCD += Attha]Eolth. AABC = 80cm? , ADOC =
30cm? ¥ ], AOBC 9] ¥lo]=?

A D
0)
B C
@® 20cm? @ 30cm? ® 40cm?
@) 50cm? ® 60cm?

AD//BC o]B=2
AABC = ADCB = 80cm?
- AOBC = ADCB - ADOC = 80 — 30 = 50(cm?)
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0|9

lo o
gr, o
Ir o

r

® 20 @)24 ® 26 @ 28 ® 30

ACOD 9] Yol xCOxmzéx6x8=24°]q:
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SHAIE]E ABCD oA x ©] Aol& F-stejzt.
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ADEC+E= AAIZI3o|B & x =4 + 4 = 80|t}
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8. T I1¥o)A AB//DCo]1, AABC = 16cm?2, ADBE = 34cm? ¥
o], DABED 2] Wo|&?

A D
B C K
@ 30cm? @ 35cm? 3@ 40cm?
@ 45cm? ®)50cm?

AB//DCo]EB& AABC = AABD = 16(cm?)
-.0ABED = AABD + ADBE
=16 + 34 = 50(cm?)




AD = 80cm ¢l H3YAFHAE ABCD A A P = 3cm/s

o &=
ZAE A M A D 2 FH0l1, A Q = Tem/s o] HE2 &
ZA- C oA EZAAE B 2 2t} A P 7} &7 o|7] A&t 4 %
o] A Q7F-&AIGH A P 7 22904 2 % Fof pAQCP 7}
Aol H A=}

B Q C

ONER @7z ®sz%
@ 9x5 ®10zxx

AP =QC 7} & wi7tA] A4 P 7} 29l A7+ x 22l 5HH
3x="T(x—4)

3x=T7x—28, 4x=28 . x=




10. HaPAHEYP ABCD 9] F ¥ BC, DC 9 &4 $jo] BC = CE,
DC =CF 7} H=5 &+ A E, F & &2 o, 0ABCDE A& A7}
Fol FPAAF o] B 2712 BI|o|A BE 2 A7

5 #yo] vjdie] 217} Basieh
5 #pe] el Pol7t 247t ek
dizte] 2717} 242 e

@ ® ©®© © O
n
oX
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14 @24 @34 @4  ©574

BAAPAGo] Hi 272 DABFC,DACED 7t BaAbd gl 5]
= 27 @7 oBFED7} BaAbdo] i 24 @2 27joltk.




11. WHAHA ABCD oA EF//BDolth. AABE = 20cm? 2 o,
AAFD 9] Yol & Foloet,

A D
F
B E C
® 16 cm? @ 18cm? 3)20 cm?
@ 22cm? ® 24 cm?

DE9}BF & 10
AABE = ADBE = ADBF = ADAF




12.

thS T Pa - JPAFAY ABCD oA Y] Yjzhe] o] 5821 7hzt
AZASIo] gEFGH & WHEQth. EH: AD=1:3,EF: AB=1:2
d o, oEFGH o] =& F51H?

15
D
// H
10
\ F
B C

/A + /B =180°°|2 & /EAB + /EBA = 90°, /AEB = 90°
ojtt.

wteb A oEFGHE AAZSo|th, EH : AD = 1 : 30|E&
EH:15=1:3, EH=5

EF:AB=1:20|2E2 EF:10=1:2, EF = 5°|t}.

metA AAZEY F 7R A= o] o7t B2 FAZE o),
Ed+= 2(5+5) =207 Bt




13. ©h2 I3 A4 ABCD 7t B A g0l /ABE = (EBC Y
o], A& x 9] doj=?

@ 2cm @ 3cm ® 3.5cm

@®)4cm ® 4.5cm

B~~10ecm--"C
BE 9] 434S 0] CD Y= A& Fef otd
x = DF = 10 — 6 = 4(cm) ©]t}.




14. o2 299 Az ABCDOIA A M2 B, C2 FHo|tt
APMC = 24cm?2 € 1, DABCD 9] Y o] & st}

A D
P
B N C
@ 72cm? @ 144 cm? ® 216 cm?
@®)288 cm? ® 352cm?
A D
N
P
B Vi C

CDY FANS FoHd
APMC = APNC (SAS &)
APCN = APND = APMC = 24 cm?
.. 0ABCD = 4ADMC
=4x24%x3
= 288 (cm?)




15. of& J3elA A M2 BC o 531
60cm? ¢ ™, APBM 9] Ho]+=?

A

D) 10cm? @ 15cm? ® 20cm?

@ 25cm?2 ® 30cm?
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AP = 2PM©o|E 2 AABP = 2APBM o]t}

.. AABM = 3APBM

T, BM = CM©°|2& AABM = AACMO|th,
wbA AABC = 6APBM ©]| 2 & 60 = 6APBM
.. APBM = 10(cm?)




